

SHORT PROOFS OF COMBINATORIAL IDENTITIES FOR
 $n!$

ÁNGEL PLAZA AND SERGIO FALCÓN

In this note, and using elementary tools from complex analysis, a concise, unifying insight into combinatorial identities for $n!$ is given. These identities were separately treated by the authors of references [1] and [2]. In [2], some generalizations of identity (0.2) were given, showing the connection with Stirling numbers. The first identity that appeared in *Integers* [1], is the following:

Identity 1:

$$(0.1) \quad n! = \sum_{i=1}^n (-1)^{n-i} \binom{n}{i} i^n.$$

Proof. By the Cauchy's Integral Formula for Derivatives:

$$\frac{1}{2\pi i} \oint_{|z|=1} \frac{(e^z - 1)^n}{z^{n+1}} dz = \frac{f^{(n)}(0)}{n!},$$

where $f(z) = (e^z - 1)^n$. Note that, since $f(z) = \sum_{i=0}^n (-1)^{n-i} \binom{n}{i} e^{iz}$, then

$$f^{(n)}(0) = \sum_{i=1}^n (-1)^{n-i} \binom{n}{i} i^n.$$

On the other hand, the same integral may be considered as follows:

$$I = \frac{1}{2\pi i} \oint_{|z|=1} \frac{(e^z - 1)^n}{z^{n+1}} dz = \frac{1}{2\pi i} \oint_{|z|=1} \frac{\left(\frac{e^z - 1}{z}\right)^n}{z} dz.$$

Date: April 24, 2007 and, in revised form, May 21, 2007.

2000 Mathematics Subject Classification. Primary 05A10, 05A19; Secondary 30E20.

Key words and phrases. Combinatorial identities, complex analysis.

This work has been supported in part by CICYT Project number MTM2005-08441-C02-02 from Ministerio de Educación y Ciencia of Spain.

But function $\frac{e^z - 1}{z} \in \mathcal{H}(\mathbb{C} - \{0\})$ and shows a removable singularity at the origin, and therefore, by the Cauchy's Integral formula, $I = \lim_{z \rightarrow 0} \left(\frac{e^z - 1}{z}\right)^n = 1$

And therefore, $\frac{f^{(n)}(0)}{n!} = \frac{\sum_{i=1}^n (-1)^{n-i} \binom{n}{i} i^n}{n!} = 1$, and the proof is done. \square

Identity 2: Let n be a positive integer. Then for any complex number k ,

$$(0.2) \quad n! = \sum_{i=0}^n (-1)^{n-i} \binom{n}{i} (i+k)^n.$$

It should be noted that in [2] identity (0.2) was proven for all nonnegative integer values of k , applying a method which goes back to Euler, and is based on the higher order differences of polynomial sequences. Here, this identity is proven again by using complex analysis arguments.

Proof. Consider

$$\frac{1}{2\pi i} \oint_{|z|=1} e^{kz} \frac{(e^z - 1)^n}{z^{n+1}} dz = \frac{g^{(n)}(0)}{n!}$$

by the Cauchy's Integral Formula for Derivatives, where $g(z) = e^{kz}(e^z - 1)^n$.

Note that, since $g(z) = \sum_{i=0}^n (-1)^{n-i} \binom{n}{i} e^{(i+k)z}$, then

$$g^{(n)}(0) = \sum_{i=0}^n (-1)^{n-i} \binom{n}{i} (i+k)^n.$$

On the other hand, the same integral may be considered as follows:

$$I = \frac{1}{2\pi i} \oint_{|z|=1} \frac{e^{kz}(e^z - 1)^n}{z^{n+1}} dz = \frac{1}{2\pi i} \oint_{|z|=1} \frac{e^{kz} \left(\frac{e^z - 1}{z}\right)^n}{z} dz = 1,$$

by the Cauchy's Integral formula, as before. \square

REFERENCES

- [1] Roberto Anglani and Margherita Barile, Two very short proofs of a combinatorial identity. *Integers*, paper A18, 3 pp. (electronic), 2005.
- [2] Roberto Anglani and Margherita Barile, Factorials as sums. arXiv:math.Ho/0702010v1, 1 Feb 2007.

DEPARTMENT OF MATHEMATICS, UNIV. LAS PALMAS DE GRAN CANARIA, 35017-LAS
PALMAS G.C., SPAIN

E-mail address: aplaza@mat.ulpgc.es

DEPARTMENT OF MATHEMATICS, UNIV. LAS PALMAS DE GRAN CANARIA, 35017-LAS
PALMAS G.C., SPAIN

E-mail address: sfalcon@dma.ulpgc.es